Loi binomiale®(12 ; 0,5)

0 1 2 3 4 5 6 7 8 9 10 11 12
0,00020,00290,01610,05370,12080,19340,22560,19340,12080,05370,01610,00290,0002
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Loi binomiale®(13 ; 0,5)

0 1 2 3 4 5 6 7 8 9 10 11 12 13
0,00010,00160,00950,03490,08730,15710,20950,20950,15710,08730,03490,00950,00160,0001
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Loi binomiale®(13 ; 0,85)

0 1 2 3 4 5 6 7 8 9 10 11 12 13
0,0000 0,0000 0,0000 0,0000 0,0000 0,0001 0,0011 0,0063 0,0266/ 0,0838 0,1900 0,2937|0,2774{0,1209

Stage "Enseigner la statistique inférentielle en BTSB. Chaput - ENFA - Tests d'hypothése



